Atomic Energy Central School # 4, Rawatbhata
MCQ Test -4

Name of the student : Clads-1l Sec.
Roll No. MM :40 Date:15.12.2018 M.O.

Q1. The young one of a sheep is called-

a) Kid b) colt c) lamb d) cub

Q2. A spiderlivesin a-

a) Web b) den C) hive durrow
Q3. Styis ahouse of a—

a) Dog b) horse c) donkey oy

Q4. The sound of a cow is —

a) Bleat b) moo C) neigh ttumpet
Q5. Which one is a domestic animal ?

a) Sheep b) fox c) jackal ) dlephant
Q6. Who s Tibloo ?

a) Adog b) a puppy c) a cat ditken
Q7. Whois ‘I'in the poem ‘PUPPY AND I' ?

a) A boy b) a girl C) a man adjoman
Q8. What did the mother hunt when the sky wak @ar

a) Sheep and goats c) fish and frog
b) Donkey and horses d) deer and pigs

Q9. What did the tiger cub catch one day ?
a) Adeer b) a pig c) a frog ) dfish
Q10. Where did the mother tiger and her smalllua?

a) Near ariver C) near a forest
b) Near a mountain d) near asea
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Q.21) There are 4 dogs. How many legs are thevgether?
A) 13 b) 14 c)15 d) 16

Q.22) 4+4+4+4+4 =

A) 20. B) 22 c) 24 d) 26
Q.23) 7x11 =
A) 11 b) 33 c) 77 d) 75

Q.24) 8times8 =

A) 62. B) 63 c) 64. D) 65
Q.25) 15 +15+15=15x

A) 4 b) 1 c) 2 d) 3
Q.26) 3 candies were given to each student. Itd@esnts are there in class, how many tota

candies are distributed ?

A) 55 b) 57 c) 59 d) 61
Q.27) 7 bananas x 3 times =

A) 15 b) 40 c) 21 d)18
Q.28) Which one is heavier ?

A) shoes b)elephant c ) pencil d) scheg b

Q.29) Which need a bigger bag ?

A) eraser b) scale c) books d) pencil
Q.30) 9+9+9+9+9= times 9
A) 3 b) 5 c)7 d)9
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Q.31) The clay pit wanted a to dig h soi
(a) Pot (b) Spade (c) Trowel (d) Brick

Q.32) A pot can be made from a chapatti of
(a) Clay (b) River (c) Mud (d) Bowl

Q.33) Avantika explained to Nandita how to play
(a) Wrestling (b) Football (c) Khokho (d) Hopedgch

Q.34) What did children play when it started ragih
(a) Carrom (b) Ludo (c) House House (d) Altloése

Q.35) A letter is written with
(a) Pen (b) Paper (c) Both of them (d) Non#&hem

Q.36) A letter bears the stamp of the place

(a) From where it starts (b) Where it is delivkre

(c) Both ‘a’ and ‘b’ (d) None of these

Q.37) Letters are taken by over lostadces.

(a) Bus (b) Car (c) Train (d) Ship

Q.38) Houses in hilly areas are made of
(a) stone or wood (b) bamboo (c) Ice (d)Nonthete

Q.39) It rains heavily all over this state
(a) Jharkhand (b) Rajasthan (c) Maharashtra  (dads

Q.40) The roof of a house depends upon the condition of that area.
(a) Rain (b) Weather (c) Wind (d) Storm
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